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INSTRUCTIONS

1. The Question Paper contains 150 questions. Each question carries 1 mark. For each wrong answer
1/3*4 mark will be deducted.

2. Please check the Question Paper and ensure that it contains all the questions. If you find any
defect in the Question Paper or OMR Answer Sheet, please get it replaced immediately. The
OMR Answer Sheet is in Duplicate. Do not separate the copies. The markings on the first page
will automatically come on the second copy also. The first copy (Original) will be retained for
evaluation. The second copy (Duplicate) can be taken home by the candidate.
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3.

Can-ymg away Origmal OMR Answer Sheet will be a criminal offence.

Write your Registered Number on the top of the Question Paper. On the right hand corner of
the first page, the Question Paper Series is printed as @ or (B) or © or @ On the OMR
Answer Sheet, Side-1 at the right top corner at Part C, the Question Paper Series are printed
as @ © @ Darken the appropriate circle, as per your Question Paper Series with
Blue/Black Ball point pen. Gel pens/pencils are not allowed.

Example to fill up the Question Paper Series on the OMR Answer Sheet
If your Question Paper Series is A, please fill as shown below :

O® OO0

If you have not marked the Question Paper Series on the OMR Answer Sheet, Side-1 at Part C
with blue/black ball point pen, or marked in a way that it leads to discrepancy in determining
the exact Question Paper Series, then your Answer Sheet will be invalidated without any
further notice. No correspondence will be entertained in the matter.

. Please get the signature of the Invigilator affixed in the space provided at the top of the

OMR Answer Sheet. An OMR Answer Sheet without the signature of the Invigilator will be
invalidated.

. The Question Paper is set in English and translated into Telugu language. The English version

will be considered as the authentic version for valuation purpose.

. Each question is followed by 4 answer choices. Of these, you have to carefully select one

correct answer and mark it on the OMR Answer Sheet by darkening the appropriate circle for
the question. If more than one circle is darkened, the answer will not be valued at all. Use Blue
or Black Ball point pen to make thick mark to fill the circle completely. Make no other stains or
marks. Using Whitener/Blade/Eraser/Chalk Powder anywhere on the OMR Answer Sheet or
any kind of tampering to change the answers on OMR Answer Sheet will lead to invalidation
of the entire OMR Answer Sheet.

e.g. : If the answer for Question No. 1 is Answer choice (2), it should be marked as follows :

1O@D|®

. Do net fold, tear, wrinkle, tie, staple, do any rough work or make any stray marks on the OMR

Answer Sheet. Otherwise your OMR Answer Sheet will be invalidated.

. Do not mark answer choices on the Question Paper. Violation of this will be viewed seriously.
. Rough work may be done on the last page of the Question Paper only. It should not be done

anywhere else.

. Any type of Electronic Devices such as Calculators, Mathematical/Log Tables, Mobile Phones,

Bluetooth instruments etc., should not be brought into the Examination Hall. If found in possession
of such devices, it will be considered as cheating and strict action taken.

. As per G.O. Ms. No. 385, GA (Ser.A) Dept., dt: 18/10/2016, if any candidate attempts to use

any means to cheat/copy etc., he/she is liable for prosecution (Police Case) and debarment.

. Candidates should stay in the Examination Hall till expiry of Full Time i.e. 22 Hours. No candidate

shall be allowed to leave the Hall in the middle of the examination under any circumstances.

. Before leaving the examination hall, the candidate should hand over the OMR Answer Sheet

top sheet (Original) to the Invigilator and carry the bottom sheet (Duplicate) for his/her record.
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% MM/MOREF/502

1. Which of the following numbers is divisible by first 10 positive integers ?

(1) 2520 (2) 2025
(3) 2052 (4) 5220
208 " 30e5e3 10 ¥ 3 grRosedsy Sops D8 2 e
[Holaly FTEE I FhoPsed Frhos o3 ? %‘?{ﬁ
(1) 2520 (2) 2025
(3) 2052 (4) 5220

2. 13 is a prime number. If you interchange the digits in the number, you get 31. It is also a prime
number. This type of prime numbers are called absolute prime numbers. Now which of the following

is not an absolute prime number ?

(1) 79 (2) 37

3) 17 ) 19

13 2.5 (e Sopy;. 8 Sopgd 'R 051 TSI Jakre ST Sopy 31. 30 K6 &8 GBS
505, 70" 2.5 (BES SoPg'R ©oSesd FELITED SAD Sy Moy KIE® BETS SoPs 0008

TR 585 (S SoPy” oL, $od TIE S8 (S Sopy SRS 2B 9 0FA0)
G

(1) 79 (2) 37

3) 17 @) 19

1 1
3. Ifcos(A—B)= 3 and sin (A+ B)= E,thenAZ

(1) 45° (2) 60°

(3) 90° (4) 30°
ERE

cos (A—B) = %;&36011: sin (A+B) = %,E*Joooé A= E‘féﬁ

(1) 45° (2) 60°

(3) 90° 4) 30°

4 (A)
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4. If tanﬂ:ﬁ:then (1+sin0) (1—-sin0) 3
7 (1+cos8) (1-cosB)

(1) -1

20
(3) P

(1+sin@) (1-sin6)
(I1+cos0) (1-cos0) a

tanB:%,eacma

(1) -1

49
(3) )

5. (cos 0 + sec 0)%— (cos 6 — sec 0) =
1) 2
(3) 4
(cos 8 + sec 8)2— (cos O — sec B)2 =
1) 2

@) 4

20

64

@ 9

2)0

64

@ 29

@) 3

41

2 3

@1

6. Iftan 8 =cot @ (0°< 0 <90°), then (sin 0 + cos 6) =

|

W 75
3) 1

EFE
tan @ =cot O (0°< 0 < 90°), 20208 (sin O + cos 8) = m

sl

m 75

31

) V2

@0

@ V2

@0
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7. The height of a temple is 25 m. Two persons are observing the top of the temple from either side
of the temple with equal angles of elevation 45° each. Then find the distance between the two

10.

(3) 6 oBa%o 8

MM/MORF/502

persons.
(1) 45m (2) 90Om
(3) 50m (4) 25m
2.5 Brocio (ool M3 25 Do. 3G Sges & IHES EIDe 08 45° &gE'e08 K6 2T
KSoRoistso 2s0Rod. e &8 G S5 S0 SIS0 Jod 2 ElwE
(1) 45 2. (2) 90 . %ﬁﬁ
(3) 50 2. (4) 25 3.
. The mean of first ten odd natural numbers is
1 (2) 55
(3) 75 4) 10
Bocsed 58 B Hi5es SoPge B0 E%%Eﬁ
(1) 1 () 5.5
3) 75 4) 10
. In a frequency distribution, I =45, n =50, f= 15, cf = 13 and h = 10, then median is
(1) 45 (2) 53
(3) 42 (4) 55
2.8 DS9Sy gresssnnd’, [=45,n=150, f= 15, cf = 13 3080 h = 10 9000 S¢S0 ag%g
(1) 45 () 53
(3) 42 (4) 55
Mode of the data 6, 8, 11,6, 7, 8, 6, 16 1s
(1) 6 () 8
(3) 6and 8 (4) no mode
6,8, 11, 6,7, 8, 6, 16 Go¥) erS5odtsn
(1) 6 () 8

(4) eroessn 86
(A)
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11. The following graph gives us the imports of wheat in tons.

MM/MORF/502

EEE

2025
2024
2023
2022
2021
2020
2019

0 1000

%

Imports of Wheat in tons

7244

2000 3000 4000 5000 6000 7000 8000

What is the ratio of import of wheat in 2021 to 2025 ?

(1) 4:1
() 2.3

Bod (FHE’ Riguxioe BB Scen Ex5nes’ Fezomn.

(2)1:4
4) 3:4

EiE

oK

2025
2024
2023
2022
2021
2020

2019

0 1000

2000 3000 4000 5000 6000 7000 8000

APgasoe SIS exnes®

7244

EEE

A

2021 300050 2025 £ Ko Rghxo Brhsose Ay Jod 2

(1) 4:1
3) 243

(2) 1:4
4) 3:4

7 (A)
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12. From the pie chart, if rent paid per month is Rs. 9,000, then what is the monthly salary of the

person ?

EEE

o

EXPENDITURE PER MONTH

Savings
8%

Education

25%

Travelling

17%

Rent

Food & Health 12% §
380.-"]1 ;

(1) Rs. 1,50,000

(2) Rs. 1,20,000 (3) Rs. 75,000

(4) Rs. 80,000

BB 3% CgrdEsod’, 1S (35750 3063 &3 Do . 9,000 LY BELETHD. S Jo B850 2

EE

PED) S0

IS

ErE

IS

(1) &».1,50,000

(2) & 1,20,000 (3) &. 75,000

(4) 5. 80,000

(A)
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14.

15.

16.

17.

% MM/MORF/502

%o dr_a“; a frequency polygon for grouped data, which of the following should be taken on
-axis

(1) Frequency (2) Class interval

(3) Cumulative frequency (4) Class mid value

28 5058 Sarod8 ey wvghEd D00t X-e50w A BRETd 2 %ﬁ
(1) SDs50 (2) S5KD e0osS0

(3) Bods IS0 (4) SEKB SoG5 o

Diagonal of a square is 6.2 cm. Then its area is sq. cm.

(1) 19.22 (2) 9.61

(3) 38.44 (4) 76.88

2.5 SEOBE 5P500 6.2 20.0. LONS TAJTOE _ $5.20.0. %ﬁg

(1) 19.22 (2) 9.61

(3) 38.44 (4) 76.88

The 1;:ng1‘.h of a rectangle is doubled while its breadth is halved. What is the percentage change in
area ?

(1) 50 () 75

3) 25 (4) no change

2. BUSBO0E0 Bk, D Bedord I, Bieno TR0 o O°0 ST g8’ St 380 Jod 9
(1) 50 (2) 75

(3) 25 (4) SrEnBE

The area of a circle is 38.5 sq. cm. Its diameter is cm.

(1) 1.75 (2) 35

3) 7 (4) 10.5

25 Syi0 Goo%) 377050 38.5 35.20.20. ©000d TR g0 20.20.

(1) 1.75 (2) 35

3) 7 (4) 10.5

The length of each side of an equilateral triangle having an area of 8 V3 sq.cmis__ cm.
(1) 16 2) 8

(3) 42 @ 22 —

2.8 Daoararo (8608 3050 843 S0 ond Tdabesn 2ol T

(1) 16 (2) 8

3) 42 4) 22

9 (A)
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18.

19.

20.

21.

A, B, C are the vertices of a triangle and P, Q, R are the mid points of BC, CA and AB respectively.
The ratio of the areas of AABC and APQR is

(1) 1:4 ) 4:1
(3) 1:3 4 3:1

A, B, C & @g0es 3oren 50050 P, Q, R &0 5650 BC, CA 508a% AB o 3ot Hotiden esoxs
AABC 35805 APQR © 3#e7s0 958

(1) 1:4 (2) 4:1
3) 1:3 @) 3:1

. 2 w z 5 (OF 0]
If the diameter of a circle is increased by 100%, its area is increased b
¥ o y El%ﬁﬁ

(1) 100% (2) 200%
(3) 300% (4) 400%
2.5 Sy¥o B TR 100% 2odSSy o Tesed” Sy DG
(1) 100% (2) 200%
(3) 300% (4) 400%

One side of a rectangular field is 4 meters and its diagonal is 5 metres. The area of the field is
2

m-.
(1) 15 @) 20
3) 12 @) 18
BESSGRSE o .5 gm0 4 Doeotsy 500010 TR K50 5 Dotatsy @0 o) 3Feg0 Q%g
Sy . ’ A
1) 15 @) 20
G) 12 @) 18

The length of longest rod that can be placed in a room 20 m long, 16 m broad and 12 m high is

(1) 20m (2) 164 m

(3) 48m (4) 28.2m

20 2. 2D, 16 Do. esey 3080k 12 Do. Jégite 2.8 KBE" soisKe ed eSS 8¢ FED %%E
(1) 20 2. (2) 16.4 2.

(3) 48 2. (4) 282 2.

10 (A)
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22.

24.

One side of a parallelogram is 14 cm. Its distance from the opposite side is 16 cm. The area of the
parallelogram is $q. cm.

(1) 124 (2) 224

(3) 186 4) 210

2.5 BETOBE SSopes 2.5 G0rsESn PP 14 20.20. T Jesoed gheino Sood TS Ko Bt
16 200.2. €003 & BIFoBS SBe ITe50 52020, 000

(1) 124 (2) 224 e
(3) 186 4) 210
. Find the volume of the cuboid 12 m long, 9 m broad and 8 m high in cubic metres.
(1) 864 (2) 552
(3) 676 (4) 784
28 B o800 Bl FED 12 ., ey 9 2. SO0 A& 8 . e00S T o JOSTE0
3035 Dessd.
(1) 864 (2) 552
(3) 676 (4) 784
Find the surface area of a sphere of diameter 42 cm. g‘%‘g
(1) 5445 sq. cm
(2) 4455 sq.cm
(3) 5544sq.cm
(4) 4554 sq.cm
Tgsason 42 0.0, Ko e &30S Jego %E

(1) 5445 5.20.2.
(2) 4455 5.20.2.

(3) 5544 5.20.2.

(4) 4554 5320.5%.

11 (A)
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25.

26.

27.

28.

The height of a cylinder is 14 ¢m and its curved surface area is 264 sq. cm. The volume of the
cylinder is cm?,
(1) 308 (2) 396
(3) 1848 (4) 1232
28 BB 289 14 2000, 3060k o IESe 3T 264 5.20.00. oI T FARSOSTE0
20.20.3,

(1) 308 (2) 396
(3) 1848 (4) 1232
Ho traight lines can be dr fr int i lane ? ey

W i a n . :

many straight lines wn from a point in a plane E?’-ﬂg‘ﬁ
(1) 1 2) 2
3) 0 (4) infinite
2.5 B008° Dot Koo Ay HF Spess Adbiieo 2
(H1 2 2
3) 0 (4) esSoso
Supplementary angle for 50° is CRe
R
(1) 40° (2) 0°
(3) 130° (4) 50°
50° Bk, 508 S'easion
(1) 40° (2) 0°
(3) 130° (4) 50°
Ratio of angles in an equilateral triangle is
e 1:2:3 2) 1:4:1
(3) 1:4/2:3 @) 1:2:43
« ” [OF=10]
B30 (Dgheod’ Sere S
> R

(1) 1:2:3 ) 11z
() 1:42:3 @ 1:2:\3

12 (A)
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29. AB and CD are two lines intersecting at O. ZAOD = 40°. Then LBOC= &l

D E]g'@
B
40°
(0]
A
C
(1) 50° 2) 140° (3) 40° (4) 320°
AB 358050 CD Sev 0 3¢ podoisuthoenamyon. ZAOD = 40° eowd ZBOC =
D
B
40°
(0}
A
C
(1) 50° ) 140° 3) 40° 4) 320°

30. Let / and m are two parallel lines, ‘n’ is transversal (see fig.), if Z1 = 50°, then £7 = E-%E
E.

A

3
4
6
5
€ 7 >m
s
(1) 130° (2) 50° (3) 40° (4) 140°

1 558050 m &0 Bodk $Xross Sped ‘n’ SRy (o Sriod) L1 =50°, woxnd L7 = g%‘g

b 3
4
6
5
€ 5 >m
A
(1) 130° (2) 50° (3) 40° (4) 140°

13 A)
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31.

32.

33.

AABC ~ ALMN and ZA=80°, ZAM + 4N =

(1) 100° (2) 80°

(3) 60° (4) 120°

AABC ~ ALMN 58050 ZA = 80°, ©008 /M + /N = g{.@r@

(1) 100° (2) 80°

(3) 60° (4) 120°

Which of the following is true ?

(1) All equilateral triangles are similar

(2) All circles are similar

(3) All squares are similar

(4) All the above

@08 TDS° 585308 9

(1) ey SSoero @gberey SErres

(2) &) JHEres SErTren

(3) &) SBEEren SETed

(4) 259

A straight line that touches the circle at exactly one point is called

(1) Chord (2) Diameter

(3) Tangent (4) Secant

Sy &8 2.8 Dot 3¢ 78 HBTTPeo 0T

(1) &= (2) g8

(3) 30 (4) 35 3
14

EE

G

MM/MORF/502

EEE

B

(A)
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34. The locus of all points equidistant from two given points is the of the line segment
L EEE
joining them.
o
(1) Perpendicular bisector (2) Midline
(3) Angle bisector (4) Circle

35,

2D Botk DotoDo o HITS EIS0s’ & ey Dothde Do 3D 585 Bgrpotio Gy,

2 &0,
(1) oow $508cpotss B (2) 306550
(3) S'es 33oBpodsS T (4) S3yBs0

The sides of a triangle are AB =4 cm, BC =5 cm and CA = 10 cm. Then the type of the triangle is
(1) Scalene triangle
(2) Isosceles nght angled triangle

(3) Isosceles tniangle

(4) Itcan’t be a triangle

AB =4 20.2., BC =5 20.2. 558050 CA =10 2.5 Ko ©BeHessn o8 ey
=4 20..0., = § 0.0, =10 20.0. gherenrr Ko (Bhe Eﬁ@
(1) DsSoers Begheso

(2) RB5o8ers vons'e Bgbeo

(3) JBgerSo Bgheo

(4) ©gbesw 6o

36. Solve : —5(x+1)=25 ERE
(1) 4 (2) -4 m
(3) -6 4 6
Rosod : —5(x+1)=25
(1) 4 2) -4
(3) -6 4 6

15 (A)
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37. 3**14+3%+1=270, thenx="?

(1) 3

(3) 2

3x 143241 =270, 008 x =7

(1) 3

(3) 2

38.

39.

(2) 4

@1

(2) 4

4) 1

Sum of the zeroes of the polynomial 15x? + 66x — 80 is

-16
M.is:

22
gy =
(3) z

16

@ 3

=22
gy —==
(4) -

15x2 + 66x — 80 2255058 GBook), Errge Joodo

-16
() -

22
P =

—1
If p(x) = 2x? —3x + 5, then p[—iJ = 7

(1) 7

-
G 5

p(x) = 2x2 — 3x + 5, 0008 p(

(17

-9
G 7

2

1

)- -

@

G —=

16

2

|G Nle

4)

@)

| o

-
Lh

“)

MM/MOREF/502
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40. If p(x) = 2x% —4x + 7 and g(x) = 2x — 3, then what is the remainder when we divide p(x) by

g ? e

W = @ 2 e
2 3

3) 6 @) 12

p(x) = 2x2 — 4x + 7 308050 g(x) = 2x — 3, es00d p(X) &0 g(x) D grhosm 59y B30 Dot 9

13 13
(1) = (2) 3

(3) 6 @) 12

41. If one root of the polynomial x? + 5x + k = 0 is (-2), then k =

(1) -3 (2) 3
2508 X2 + 5% + k = 0 GBool 2.8 Soresn (-2), €008 k = gjﬁ
1 -3 (2) 3
(3) -6 (4) 6
42. Nature of the roots of the quadratic equation x>+ 4x +4 =0 is
(1) real and distinct (2) real and equal
(3) not real (4) none
S s X2 +4x + 4 = 0 B0k, Sowre HeaTSsn
(1) rSTren, edsraren (2) T, SSTTred
(3) TR Sogpgen s°o (4) 20 =8
43. Quadratic polynomial having zeroes % and -1 is
(1) 4x2-x—4 (2) 4x2+x—4
(3) 4x*-x+4 (@) 4x2+x+4
E=E
) R
Y S300a — 1 Frargeon o 3 25050 =
(1) 4x*—x-4 (2) 4x2+x-4
(3) 4x2-x+4 (4) 4x2+x+4

17 (A)
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44. From the diagram, write the zeroes of the polynomial represented by the graph. %%E

e s

(13 2) 0 Q) 4 4 1
ée?oés By ises 8003 wisse &g

—

1 i e T
3 -:_l:-':.:-'.':: 5
5

(13 20 3) 4 @1

45. The graph of the polynomial p(x) = 3x + 1 meets X-axis at

(1) 3,0 (2) =3,0)

3) [l, 0) 4) (——1 . 0]

25058 p(x) = 3% + 1 5 5rDod SgrdEsn X-e5d) podod HotsoD o]
(1) 3,0 (2) 3,0

3) G 0] ) [‘?1 0)

46. The two linear equations x —y = 6 and x — 3y = 0 represent the lines are

(1) parallel (2) coincide

(3) intersecting (4) none
SAoESETED X — Y = 6 500050 X — 3y = 0 5570 pen e.5oIE 5 g%rg

(1) B5rosTren (2) Y820 Speo

(3) Potss Spew @) D6 &0

18 (A)
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47. Write the equation of the given situation “The cost of 8 pencils and 9 pens together is EEE
Rs. 100” (take cost of a pencil as ‘x” and cost of a pen as ‘y’) Of -@
(1) 9x+8y =100
(2) 8x+y=100
(3) x+9y=100
(4) 8x+9y=100
RS SoETIE SoETe Trabod. “8 2y $o8abe 9 e ¢ & 1007 (2.8 DS (565 X” e,
2.5 2050 G50 “y” 9 BioSodk)
(1) 9x+8y=100
(2) 8x+y=100
(3) x+9y=100
(4) 8x+9y=100
E=E
48. Let A, B are two non-empty sets. fAc B, then AU B = E‘f—fﬁ
(1) B 2) A
3) AnB (4) A-B
A, B &0 ot &g $osoen, A B esoxd AUB =
(1) B (2) A
3) AnB (4) A-B
ExE
49. If A and B are two disjoint sets, then n(A) + n(B) = %’f@
(1) n(AuB) (2) n(ANnB)
(3) n(A-B) (4) n(B-A)

A 508050 B 0 Daxog $20ses eond n(A) + n(B) =

(1) n(AuUB) (2) n(A B)

(3) n(A-B) (4) n(B-A)
19 (4)
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50. The null set is represented by the symbol ¢. Then n(¢p) =

51.

52.

(1) 0

3) o

Eri5g 508D ¢ & SrOF, sond n(9) =

(1) 0

G) ¢

86324 — (698 + 32517 + 4366 + 10651) =?

(1) 38092

(3) 39802

86324 — (698 + 32517 + 4366 + 10651) =?

(1) 38092

(3) 39802

)1
(4) infinite

@) 1
(@) eso550

(2) 38902
(4) 39082

(2) 38902
(4) 39082

EEE

B

MM/MORF/502

The sum of two numbers is 25 and the difference of their square is 75. Find the difference
between two numbers.

ExE

R

(1) 8 ) 3
3) 6 (4) 4 —
Bots Sopse 8o 25 SoBokn T STre 350 75. eand & Sopge HEo o 2 v@%
(1) 8 (2) 3
(3) 6 ) 4
53. [fi:.%,ﬂ]enthevalueof'(é.;.
y 4 7 y+x
8 5
1) = 2 2
(1) = (2 =
(3) 1 4) 2
E:E,@cmé (E y_xJz
y 4 \7 y+x
8 5
1) = 7 2
(1) y (2) >
(3) 1 4) 2

20

(A)
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54. If HCF of two numbers is 4 and their LCM is 576. If one of the number is 64, find the other

number.

(1) 27 (2) 32

(3) 26 (4) 36

o> HoPge K57, 4 3o0aH0 T3 .10, 576. 36" 2.8 Sopy 64, €028 Bodss Sogs g%g
(1) 27 (2) 32

(3) 26 (4) 36

55. What is the least value must be given to * so that the number 97215x6 is divisible by 11 ?

11 (2) 2
(3) 3 4) 5
97215%6 53 oy 11 B eI gPRoBERDH * 0" doksoNs SVE ecs Jos ?
(1)1 () 2
(3) 3 4 5
ERE
56. 0.5 x 0.05 x 0.005 x 50 =2 BTG
(1) 0.0625 (2) 0.00625
(3) 0.625 (4) 0.000625
0.5 x 0.05 x 0.005 x 50 =2
(1) 0.0625 (2) 0.00625
(3) 0.625 (4) 0.000625
gy, DT e st swilel by o ik TRE
* 36x02 > ch number is rep y question mark ? E{.@
(1) 120 () 1.20
(3) 12 (4) 0.12
Ll s (5% 1003 308" &otisens &0 Jods 9
3.6x0.2 sl
(1) 120 (2) 1.20
(3) 12 (4) 0.12

21 (A)
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61.

MM/MORF/502

ExE
29 X
If J1+—=1+—, th ;
J1+ g =1+ thenx o
(O 1 2) 3
@3) 3 (4) 7
l+2—9 = 1+i, e3008 X
196 14
(1) 1 2) 3
3) 5 @7
96% of population of a village is 23040. The total population of the village is
(1) 32250 (2) 24000
(3) 24936 (4) 25640 EE
2.8 (0 &S’ 96% et 23040 ©0008 & (™30 3oodo ey %’f@
(1) 32250 (2) 24000
(3) 24936 (4) 25640
What will be 80% of a number whose 200% is 90 ?
(1) 144 (2) 72
(3) 36 4) 18
90 2.5 S0 G30%, 200% 008, & SopgS® 80%
(1) 144 (2) 72
(3) 36 4) 18
ElwE
Find the fourth proportion of 6, 5 and 12. Eﬁ.@
(1) 15 2) 9
3) 8 4) 10
6, 5 S5oBak» 12 Aok, Y 3300785500 Jods ?
(1 15 2 9
(3) 8 (4) 10

22

(A)
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62. fA:B=2:3andB:C=4:5,thenC:A=

MM/MORF/502

(1) 8:15 (2) 15:8
(3) 8:5 4) 5:8
A:B=2:3508c0B:C=4:5 0008 C:A=
(1) 8:15 (2) 15:8
(3) 8:5 4) 5:8
ERE
63. Set of Rational numbers is denoted by %ﬁ
() R (2) Q
(3) Z 4 W
©EBEIH Doy SWBR SrDoo eFto
() R (2 Q
() Z 4 W
64. An irrational number between 2 and 3 is
(1) J6 (2) 2.125
(3) 2.956 4) J6.25
2 S0B0%0 3 © So¢ss 2.8 Eoedah B e
© 5 Q0 m?hg‘?a
(1) e (2) 2.125
(3) 2.956 4) J6.25

65. If cost price of an article is Rs. 5,625, gain is 20%, then find selling price.

(1) Rs. 5,645

(3) Rs. 6,750

(2) Rs. 67,500

(4) Rs. 7,650
EE

&8 330 £'8) 3o & 5,625, &7g5500 20%, ©90008 595D J0 Jod ? %

(1) &.5,645

(3) &. 6,750

23

2) &». 67,500

@) &. 7,650
(A)
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66.

A vendor bought 6 chocolates for a rupee. How many for a rupee must he sell to gain 20% ?

[OF0)
1) 4 2)5

(1) 2) B

(3)3 @) 2

28 TG0 2.5 Erdrand 6 T3y Tyt 08 T3 2 20% oy FoE58S0ES Erdrand Iy

T5e esyd ?

(1) 4 )5
(3) 3 4) 2
67. If the selling price of 10 articles is same as the cost price of 12 articles, find gain percent.
(1) 16% (2) 25%
(3) 18% (4) 20%
10 5:5090 6293 3o 12 S:5590 £ 30O $5FS28 ogf 008 ¢ R
(1) 16% (2) 25% ﬁ@
(3) 18% (4) 20%
68. Siva and Ramu together can do a work in 12 days, while Siva alone can do it in 30 days. In how
many days Ramu can do it ?
(1) 15 (2) 10
(3) 20 (4) 25

835 SoDao CPsen 5O 2.5 3AD 12 Beres’ Sabroth. 35 a8 & 35D 30 Bred’ JoHrOAS,
TP 28¢5 €3 5D ) Bered’ Tabradd ?

(1) 15 (2) 10
(3) 20 (4) 25
69. A man crosses a lane 600 m long in 5 minutes. His speed in km per hour is 5y
G
(1) 72 (2) 3.6
(3) 10 (4) 84
25 302,600 2. D¢ Ko 2.8 P 5 I’ Trésko. ©od Kotk esd KSw §.20.6°
(1) 72 (2) 3.6
(3) 10 (4) 84

24 (A)
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70.

71.

72.

73.

A train passes a standing man in 2 seconds and a platform 50 m long in 4-]- seconds. Find the

length of the train. 2 ElxE
(1) 200m ) 150m B
(3) 100 m (4) 40 m

2% Ben Joad &) 2.5 SR 2 2ESE’0, 50 . PEDKE eSS0 4x DEIE R0 Tredisercnnd
& Beo P Jots ? 2

(1) 200 2. (2) 150 .

(3) 100 2o. (4) 40 2.

At simple interest, a sum doubles after 20 years. The rate of interest per annum is

(1) 10% (2) 5%

(3) 15% 4) 12%

CAio NS ;Sé 5750 S0 0y 20 So3eh et GeJod 8ad $osSoI3 ::)é Bex doss o el
(1) 10% (2) 5% E{ﬁ
(3) 15% 4) 12%

A sum of Rs. 12,000 deposited at compound interest becomes double after 5 years. After 20 years
it will become

(1) 1,92,000 (2) 1,20,000

(3) 1,32,000 (4) 1,25,000

8. 12,000 50 SESG (55760 5 $3058y07e Bedod exdly Ao AJreeS Sannds. wowd
&3 5oy 20 Sosehore Sorgd Jods e:HEed ¢

(1) 1,92,000 (2) 1,20,000

(3) 1,32,000 (4) 1,25,000

Which of the following has no solution in whole numbers ? Q)
G

(1) 3(x-2)=15 ) %=4

(3) 7-3k=2 (4) 2m+5=7

808 T8’ B Jrgosod® FeS 8 2
(1) 3(x-2)=15 ) %:4

(3) 7-3k=2 (4) 2m+5=7

25 (A)
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74. —— will terminate after

75.

41
1250
(1) 2

(3 3

(1) 12

3) 1

22+lng2 3

(1) 12

76. What is the last digit of 657

7.

31

1) 0
3) 5

decimals.

(2) 4

(4) 1

&F°0F i);a‘en BSOS 0BI0PHBLCB.

2) 4

4 1

20

“ 4

@) 0
“4) 4

2) 1

@) 6

675 SoggE™ 2.5 oS &6 o3 2

(1) 0
(3) 5

0.252252225....isa
(1) rational

(3) composite
0.252252225.... 2.5
(1) esssdah

(3) Soa$ol

@) 1

(4) 6

number.

(2) irrational

éoapé 97030,

(4) prime

(2) 55630

26

4) s

MM/MORF/502
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78. Which of the following is a terminating decimal ? ElwE
: 5 &%
M = @
11 20
3) — 4y ==
@) 12 @) 9
@08 38" evosssodlyy ¢5eodsn 08 2
9 5
(1) Y (2) -
11 20
3) — ) =
G 5 @3
79. HCF of two Co-primes x and y is
(1) 1 (2 x By (4) xy
X SoDOK0 y B0t S0y (S Sopsen e Tl St K57, 150, %—%%
(1) 1 @) x 3y @) xy -

80. What is thesumof% and its reciprocal ?

1y 0 @ <
169
0 o @ 120
é SoBa% B ool KoeaseS IE*5o000 Jo Jods 2
(1 0 (2) -16%
169
OR = @ T30

81. What is the value of 2+/3 ++/108 ?

1 1
(1) 9 (2) 3

3) 3 @ B

243 +/108 Gog Dewss Jois 2 g%{[g
1

3) V3 @) \_;_5

27 (A)
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0. .0 0 ~07?
82. Theva.lucof[:; %6 5 xT } is

2° 3¢
(1 2

3)1

3'x6° 5°x7° ;
{ " ] Boo%), DewsS Jods ?
2° 3°

(1) 2
3) 1

-
83. If adding a fraction to 3 makes 11, then find that fraction.

3
M) 3

1
3) 10—
(3) -

7
8

3
M 3

1
3 =
(1108

(2) 4

4) 0

84. What should be subtracted from % to get % ?

5
i =
()8

11

) 24

% S00A ot HHIDS ead % a1$3e50.

5
1y =
(1) 8

11
3) 2%

28

(2) 4

@0

3
@) 33

1
@) 95

3
@ 33
|
(Y 22

)

b | oo
N

(C))

p—t
—t

2

|§ | oo

4

o
—_

MM/MORF/502

(OF0)

i)

ElRE
— 5 28 Dot Krem go 11 €0 & HHSos SoFss0. SRS

ERE

G

(A)
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8s.

86.

87.

MM/MORF/502

Find the rate of compound interest. If Principal amount =< 1,200, Time = 2 years, Sl
Total amount =¥ 1,452. E{{ﬁ
(1) 5% (2) 10%

(3) 12% (4) 12.5%

e = T1,200, Sos0 = 2 $o38y55000, I80 = T 1,452 6000 SESE Benso SHRsas0.
(1) 5% (2) 10%

(3) 12% (4) 12.5%

If the ratio of three angles of a triangle is 3 : 4 : 5, then find the difference between the largest and
smallest angle.

(1) 15° (2) 30°

(3) 45° (4) 60°
2.5 (Bg025008°) 3007 S'ero A 3: 41 5 o, ©d B L0 ©d DI Sexoe
530080 ESR"os0.

(1) 15° (2) 30°
(3) 45° (4) 60°

) ExE
IfA:B=10:9 and A is 20 more than B, then find sum of A and B. %‘%ﬁ

88.

(1) 190 (2) 280

(3) 380 (4) 570

A:B=10:9 3080%0 A dews B 5063 20 5955, ©900085 A 308050 B © 3008500 Jods 2
(1) 190 (2) 280

(3) 380 4) 570

If the ratio of A, Band C is 6 : 7 : 8, then find the ratio of %,%,%.

(1) 28:26:23 (2) 28:24:23

(3) 26:24:21 (4) 28:24:21
A,Bm@mc@mﬂgs:?:smm%,%mam%es@gaoa? g%%
(1) 28:26:23 (2) 28:24:23

(3) 26:24:21 (4) 28:24:21

29 (A)
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89.

If the incomes of A and B are in the ratio 6 : 5 and their expenses are in the ratio 4 : 3, and their
savings are X 20,000 each, then find the sum of their incomes (in rupees). EE

(1) 1,10,000 () 1,20,000 G

(3) 1,30,000 (4) 1,40,000

A, B o esoraire D5 6 : 5 500500 T8 P A5G 4: 3. T (58 .55 720,000 © FSoy
SIS, TOED B, eTATe 30080 o (Srabed’) ?

(1) 1,10,000 (2) 1,20,000

(3) 1,30,000 (4) 1,40,000

Tanoj and Manoj working together can finish a work in 12 days. If Tanoj alone can do the same
work in 20 days, then in how many days Manoj alone can complete the work ?

(1) 20 (2) 25

(3) 30 @) 35

91.

92.

STE $0800 S8 ST LOD 2.5 5 12 Fered’ ro3abret. b I STE 653 20 Sered’
I 83aHrOAS, $HTE .58 e 5ID I Fered’ FrHBaLKOE 2

(1) 20 ) 25
(3) 30 (4) 35
EEE

Find the LCM of 20, 25, 35 and 40. R
(1) 1000 (2) 1200
(3) 1250 (4) 1400
20, 25, 35 S08a%0 40 © KK, Jods 2
(1) 1000 (2) 1200
(3) 1250 (4) 1400
The number 4x0618 is completely divisible by 11. Find the digit x. o

5
1) 2 2) 3
(3) 4 4 5
4x0618 e53 Soyg 11 3 Fysor grhoseds, X Jeos Jod 2
(1) 2 (2) 3
(3) 4 4 5

30 (A)
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93. Find the product of smallest prime number and smallest composite number.

(1) 4 (2) 6
3) 8 4) 10
8 ‘3‘5.3( BES Sogyg Sodoo ed f.);’ﬁ DoaX0¥ oo ©gIsosd ES0f 50500, %gg
&;
(1) 4 ) 6
(3) 8 4) 10
94. Find the sum of first 100 natural numbers.
(1) 4050 (2) 5050
(3) 6050 (4) 7050
Joocsed 100 S50 0250 J00GI000 EIR S0
(1) 4050 (2) 5050
(3) 6050 (4) 7050
95. Find the value of log,32.
(1) 2 ) 3
3) 4 4) 5
EwE
log,32 ens Jods 2
g &
(1) 2 (2) 3
3) 4 4 5
96. What is the value of log, [logT 7 ?'\E) ?
(1) 2log,7 (2) 1-3log,7
(3) 1-3log,2 (4) 3log,3
log (log VNIV ) B Dewss Joss 9 ERE
i S y E5
(1) 210g3? (2) 1-3log,7
(3) 1-3log;2 (4) 3log,3

31 (A)
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97. A person buys 60 oranges at the rate of I 48 per dozen and sells them at the rate of ¥ 72 per

dozen. Then find the total profit. ERE
I

(1) T 100 ) T120

3) 140 (4) T150

2.5 3558 60 E00° S0t G T 48 Sy £, Gesido T 72 Ty eys Ingo egio Jo8 29

(1) X100 (2) X120

(3) X140 (4) X150
98. A car is travelling at speed of 45 km/hr. How far will it travel in 48 minutes ?

(1) 36 km (2) 40 km

(3) 30km (4) 32km

2.8 5280 45 . M. /0. Sro8’ Hatreloss, ed 48 oos’ Jod Sr8o (Sarednod 2

(1) 368. 2. (2) 40 8. .

(3) 30&. 2. (4) 328 2.

; . Bl

99. If the zeroes of a quadratic polynomial x? — kx + 9 are equal, then find the value of k. m

(1) =6 (2) =8

(3) £9 4 9

x2 —kx +9 3¢ 235030 ook, Ergeo S350 €000, k Bk Jenss Jod 2

(1) =6 (2) +8

3) =9 4 9

1
108, If x+-1 =4, then the value of X* +— is
X X

(1) 12 () 14
(3) 16 4) 18

1 2, | ExE
x+;—4 0008 X x—2 es E’f@
(1) 12 () 14
(3) 16 @) 18

32 (A)
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101.

102.

103.

104.

Ifa+b+c=0 then, (a3+b3+c3)2=

(1) 3abc (2) 3a%b%c?

(3) 9a%b%c?

(4) 27abc

a+b+c=0eons (a3+b3+cs)2=

(1) 3abc (2) 3a?bic?

(3) 9a?bc? (4) 27abc

ExE
2 : 7 5 3
What is the degree of the polynomial 3x” + 2x%y° + 10y3 + 7 ? E’f@

(1) 4 (2) 5
3) 7 4 9
3x7 + 2x%y5 + 10y? + 7 205008 $0:50°€30 Jods 9

(1) 4 @) 5
(3) 7 4 9

If 5x + 10y = 75 and 15x — 30y = 75, then find the value of x and y.
(1) x=10,y=3.5 2) x=10,y=2.5

(3) x=7,y=4 (4) x=9,y=3
5x + 10y = 75 308050 15x — 30y = 75 90005 X 0000 y dews Jod 2

(1) x=10,y=3.5 ) x=10,y=2.5

105.

3) x=7,y=4 4 x=9,y=3
If — 6(x — 7) =—72, then find the value of x.

(1) 19 2) 17

(3) 15 4) 13
—6(x —7) = -T2 50208 x Do ESoR 0500.

(1) 19 2) 17

3) 15 4) 13

Find the roots of the quadratic equation x> + x — 72 = 0.

(1) —8and 9 (2) 8and -9
(3) —6and 12 (4) 4and -8

X2+ x — 72 = 0 SESAEGE0 Dok Soreren EXof"a050.
(1) —8 580509 (2) 8 300a%0—-9
(3) —6 SoBaxn 12 (4) 4 500050 — 8

33
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106. If a—b = 1, then what is the value of a* —b> — 3ab ? E{{g
(1) 0 @1
(3) 2 “4) 3
a—b =1 oS a® — b* — 3ab ooy Do Jos 2
(1) 0 @1
(3) 2 43

107.

108.

109.

If the polynomial P(x) = x? + kx — 21 is exactly divisible by x — 3, then the value of k is

M -3 =
@) 3 @) 4
P(x) = x2 + kx — 21 &3 257058 x — 3 3 Ddor griosnds k Gus, oo Jos 2 S’%'g
(1) -3 ey =
3 3 @) 4

Find the quotient if the polynomial P(x) = 50x? — 90x — 25 leaves a remainder of — 5, when
divided by 5x — 10.

(1) 10x+2 (2) 10x+3

3) 10x-2 ) 10x-3
P(x) = 50x2 — 90x — 25 350569 5% — 10 3 £PAoDs Si52) Fo — 5 0 griec o 2

(1) 10x+2 (2) 10x+3

(3) 10x—-2 (4) 10x -3

If2n = 24 =27 then find the value of ‘n’.

1) 2 @) 3
3) 7 4) 11 EEE
20+ 24 = 27 es000 “n’ DeS Jods 2 oA
1) 2 @) 3
3) 7 @) 11

34
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110. What is the square root of 9+2+/14 ?

111.

(1) 2+43

B) V2+47 '

942414 @B, 3§00 Jod 2

(1) 2+
3) V2+47

(1 2

(3) 6

112.

23 x 3% x 1080 + 15 = 6X 5003 X oS Joss 9

(1) 2

3) 6

If JS_“ =625, then find the value of n.

(15

() 7

J5" =625 ©000:5 n Dewsiso Lo,

(1) 5

37

) V3++5
@) 3+6

) 3+5
@) J3++6

If 23 x 3% x 1080 + 15 = 6%, then find the value of x.

() 4

4 8

(2) 4

4 8

@) 6

4) 8

@) 6

“4) 8

35
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L B == aad b o i s e valne ST X 1

2x 4y 4z
7 7
M 15 @ 1
7 7
3) — A) <
@ 3 Y
2 =4Y = §* Sobaln L+L+-1—=4 €900 X D0 JO&5 ? e
2x 4y 4z ' Eg@
l ?ﬁ
M 13 @ 16
a
7 7
3) — 4) —
®) 7 @ 3
114. IfsinA= %,then the value of tan A is
3 4
M @ 3
3 3 @ 3
sin A= % 30008 tan A e Jodh 2
3 4
Mz @ 3
3 3
G 3 @ 3
ExE
115. If 0 is an acute angle and tan © + cot 8 = 2, then find the value of sin® 8 + cos? 6. e
ﬁ
2
(1) V2 (2) 242 3) 32 ) %
tan 6 + cot 0 =2 o80K» 8 eeyEexn eows sin® B + cos® B DeSKo SR HS.
ﬁ
2
(1 V2 ) 22 3) 32 ) %
me 1 _ ERE
116. lfsmﬁ——z,thenze— E‘f@
(1) 0° (2) 30° (3) 45° (4) 60°
1
sin@= 5 @S 20 =
(1) 0° (2) 30° (3) 45° 4) 60°

36 (A)
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117. What is the value of sin 90° x sin 89° x sin 88° x ....... x sin 0° ?

(1) 0 )1
3) V2 4) 2
1 ° X si e ° x x sin 0° iy
sin 90° x sin 89° x sin 88° x ....... sin 0 DoY) Jeoss Jod 2 Eﬁ"ﬁ
(1) 0 (2) 1
3) V2 @) 2
118. sec?42° —tan?42° =
(1) 0 2 1
@) V2 4 3
sec? 42° —tan? 42° =
(1) 0 21
@) V2 @) 3
119. In the given figure the value of x is
ERE
E54
45°
8 cm
(1) 6cm (2) 7.5 cm
(3) 8cm (4) 10cm
3 S625008° X Denss Jod 7
ExE
x =
45°
8 o.20.
(1) 6 0.20. (2) 7.5 20.20.
(3) 8 2o.. (4) 10 o0.2.
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120. In the given figure ‘O’ is the centre of the circle, ZOAB = 20° and ZOCB = 45°, then the
value of ZAOC is EEE

G

(1) 30° (2) 45° (3) 50° (4) 60°
3Dy D508’ ‘0’ 5y Soo, LOAB = 20° 50803 ZOCB = 45° es0s LZAOC Je03

EEE

ot

(1) 30° (2) 45° (3) 50° (4) 60°

121. What is the distance between two parallel tangents of a circle of radius 7.5 cm ?

(1) 7.5cm (2) 15cm
(3) 21cm (4) 28 cm
7.5 0.2, TR0 S B850 ooty Dotk DSBS $)50p0 S 6rdo Joss o FiEE
(1) 7.5 20.20. (2) 15 20.20. %%
(3) 21 o.2n. (4) 28 20.20.

122. If two angles are equal in a triangle and the third angle is 74°, then find the measure of each
equal angle.
(1) 37° (2) 53°
(3) 62° (4) 74°
2. (©8H235008° Both Feren S5m0 000 Sa7es S0 74° e (58 335573 S0 Sots Jod 2
(1) 37° (2) 53°
(3) 62° (4) 74°

38 (A)



il

123. Two supplementary angles are in the ratio 5 : 7, find the smaller angle measure.

(1) 90° (2) 85°

(3) 75° (4) 68°

124,

125.

EEE
Ttk 0708 Semo 358 5 1 7 w0 D) S'easio Fos Jo8 2 ik

(1) 90° (2) 85°

(3) 75° (4) 68°

What is the measure of each exterior angle of a regular octagon ?

(1) 30° (2) 45°

3) 60° (4) 36°
Eo e533g0e Book) (38 eriry Sevo Foss ot 9

(1) 30° (2) 45°

(3) 60° (4) 36°

In the given figure, find the value of x.

s 350 2x LY
(1) 26° (2) 27°
(3) 28° (4) 29°

FOS 5e035008° x Dewis Jots 2

" 35° 2x .
(1) 26° (2) 27°
(3) 28° (4) 29°
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126. In the given figure /|| m, find the value of x +y.

ERE
o)
72
¢ > !
X
y
< / > m
1) 72° (2) 144°
(3) 216° (4) 230°
20y Heax508 1| m eans x + y Deosss S8,
( 72 N —
: Gt
y
¢ / >m
(1) 72° (2) 144°
(3) 216° (4) 230°

127.

If in AABC, ZABC = 60° and BC is extended to point D, with ZACD = 120°. Then what
type of triangle is AABC ?

(1) Scalene triangle (2) Isosceles triangle

(3) Equilateral triangle (4) Right angled triangle

AABC & ZABC = 60° 508050 BC & D 36% rdRosm ZACD = 120° escxsss AABC g%g

JewS0ed ghessoo 2
(1) DSSoerss (Bghzo (2) d3bgerT Bgheso

(3) Joers gheso (4) eocws'n b0
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128. If AABC ~ APQR and perimeters of AABC and APQR are 21 cm and 27 cm respectively and

AB =7 cm, then length of PQ is ExE
(1) 6cm (2) 7.2cm i
(3) 85cm (4) 9cm

AABC ~ APQR 308050 AABC, APQR o SoexSeden SE0m 21 20.20., 27 20.20. So8ako
AB = 7 20.20. 500085 PQ ¢ Jods 2

(1) 620.20. (2) 7.2 20.20.

(3) 8.5 2o.. (4) 9 2o,

129. IfAABC~APQR and PQ =6 cm, QR =8 cm, PR =10 cmand ar (AABC) : ar (APQR) =1 :4
then AB 1s equal to

(1) 2cm (2) 3cm

(3) 4cm (0 5o

AABC ~ APQR 5580 PQ = 6 0.20., QR = 8 0.20., PR = 10 20.20., E’%g
E.

ar (AABC) : ar (APQR) = 1 : 4 es0005 AB 2¢ies) Joss 9

(1) 220.2. (2) 3 20.20.

(3) 4 0.2. (4) 5 2o.

130. The point of concurrency of medians of a triangle is known as

(1) Incentre (2) Circumcentre

(3) Orthocentre (4) Centroid
Beoes 5065516 Spo 20 Dot DSo0erehd 2

(1) eostHE SoEsn (2) 3033y Tosis
(3) oo® SoEs® (4) 1808 Sosasn
ErE
131. In a Parallelogram ABCD, ZA and /B are in the ratio 2 : 3, then find ZA. AR
(1) 60° @) 72° '(3) 96° (4) 108°

ABCD 5357088 38052)2:06" ZA 50052 ZB o0 2 1 3 JyBE° imyom0. 0005 LA o 2

(1) 60° (2) 72° (3) 96° (4) 108°
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If one angle of a parallelogram is 20° less than thrice the smallest angle, find the measures of all

the angles. (O 0]
o]

(1) 50°,130°, 50°, 130° (2) 70°, 110°, 70°, 110°

(3) 60°, 120°, 60°, 120° (4) 80°, 100°, 80°, 100°

2.5 BETOBE SEoteo ol 28 Feso, T D% Seso By, 3 3ex 5o 20° SES. ©000S e,
Sero Sodes SHof s,

(1) 50°,130°, 50°, 130° (2) 70°, 110°, 70°, 110°

133.

(3) 60°, 120°, 60°, 120° (4) 80°, 100°, 80°, 100°

In AABC, DE || BC and DE intersect AB and AC at the points D and E respectively. Given that
AD =2 cm, DB =3 cm, AE = 3 cm, EC = 4.5 cm and perimeter of AABC is 18.5 cm. Find the
length of DE. EIjFE
(1) 24cm (2) 2.7cm (3) 3cm (4) 32cm

AABC &, DE|| BC 508052 DE 8 AB, AC o5 36537 D, E Sotiode 3¢5 pod08.
AD =2 20.25; DB =3 20.20., AE =3 20.20., EC =4.5 20.20. 5080 AABC @8 S¢S0
18.5 0.20. &0 DE ¢ Jods 2

(1) 2.4 20.20. (2) 2.7 do.. (3) 3 do.v. (4) 3.2 20.20.

134,

135.

Find the length of the tangent drawn from a point 25 cm away from the centre of the circle of
radius 7 cm. ExE

(I) 26 cm (2) 24 cm (3) 18cm 4) 17 cm S

7 20.20. T SRS 508, oD ToBin Hood 25 20.2. ErES08" Ko 2.8 Dot Soodk
A :335%82) DD dod 2

(1) 26 0.0, (2) 24 2o0.0. (3) 18 2o.. (4) 17 20.20.

AB is a chord of the circle and AOC is its diameter such that ZACB = 30°. If AP is the tangent
to the circle at the point A, then ZBAP=

(1) 30° (2) 45° (3) 60° (4) 90°

ZACB=30° escog Desssoor AB 2.8 538 a3°g 500010 AOC 358 g5, A 3¢5 508 ADS 55,89
AP 005 ZBAP =

(1) 30° (2) 45° (3) 60° 4) 90°
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136. In the given figure, if PA and PB are two tangents to a circle with centre ‘O’ such that %{%E
E.

ZAPO = 35°, then find ZAOB.

137.

A
(0] P
(1) 70° (2) 90°
(3) 110° (4) 120°
FS B30 ‘0" SoESor Ko $TA3 PA 5:00k0 PB Both $ytiSpen odao ZAPO = 35°
es0005 ZAOB dods 9 ERE
ISR
A
0 P
(1) 70° (2) 90°
(3) 110° 4) 120°
In AABC, D, E, F are the mid-points of AB, BC and AC respectively. FAB =41 cm, BC=28 cm
and AC = 15 cm, then find the area of ADEF.
(1) 28.5 cm? (2) 31.5 cm?
(3) 42 cm? (4) 45 cm?
AABC &' AB, BC, AC o S5 Hotiigen 3t D, E, F 8010 AB =41 0.2, BC =28 20.2.,
AC = 15 20.20. @0 ADEF 3ve50 Jod 2 ERE
(1) 28.5 520.5. (2) 31.5 5.20.%. o
(3) 42 S.20.5. (4) 45 5.200.5.
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138. A circle touches all four sides of quadrilateral ABCD whose sides are AB=13.2cm, ~ EzE

BC = 9.8 cm, CD = 10.5 cm. Find length of AD. T4
(1) 11.4cm @) 123 cm
(3) 126 cm (4) 13.9cm

AB = 13.2 20.2., BC = 9.8 20.20., CD = 10.5 20.2., ghareor SRS Sdotiyeso ABCD Gy,
TeOIH ZHEPERD 8 SyBH00 HBoBHA. ©000% AD FED o ?

(1) 11.4 205 ) 12.3 20.5.
(3) 12.6 20.5. (4) 13.9 0.

139. There is a rectangular garden of 320 metres x 82 metres. A path of width 6 metres is built around
the garden. What is the area of path ?

(1) 2982 m? (2) 3128 m?
(3) 4016 m? (4) 4968 m?

320 2. x 82 . Sodeorr Ko 2.8 BYSSERSE §'¢ ST 6 2. ooy Ko 28 ereass Jo7En
3, &3 2re S50 Jo 9

(1) 2982 52 2) 3128 %2
(3) 4016 5.2 (4) 4968 2.2

OF30)
140. Find the volume of the cylinder whose radius is 10 cm and height is 35 cm. E‘é@

(1) 9,900 cm? (2) 11,000 cm®
(3) 11,200 cm? (4) 12,000 cm®
10 20.20. TG0 S0 35 0.0, MY SOAS BTS00 508 B5Te0 Jod 2
(1) 9,900 20.5.3 (2) 11,000 20.20.3
(3) 11,200 o0.20.3 (4) 12,000 20.20.3

141. A wire is bent to form a square of side 33 cm. If the wire is rebent to form a circle, then its radius
will be
(1) 7cm (2) 14cm
(3) 21 cm (4) 28 cm
2.5 SIS 33 20.20. £HES0MT Ko 2.8 SESERS0NT Doyt Do, BOA &8 BRSO SyEBS0ome Jo%yed
33, & By 5o o 7 ElEE
(1) 7205, @) 14305, ]
(3) 21 2o0.2. (4) 28 20.5.
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142. The sum of length, breadth and height of a cuboid is 19 cm and the length of its diagonal is

13 cm. Then the total surface area of the cuboid is E,%%
(1) 192 cm’ (2) 212 cm? o
(3) 216 cm? (4) 256 cm?

2.5 8080 ook, e, Sesendy o000 Jékye Jaogo 19 o.2o. Sodaks T K FED
13 20.20. &0 & 8BS Sogse 37°e50 Jos ?

(1) 192 20.20.2 (2) 212 2022
(3) 216 0.2 (4) 256 20.20.2

143. If the radii of two spheres are in the ratio 3 : 4, then find the ratio of their respective volumes.

(1) 3:4 (2) 8:27

(3) 27:36 (4) 27:64

Both R'éisoe TR Iy 3 : 4 008 T3 308 BOSTEs00 KB SEST ot 9
(1) 3:4 (2) 8:27

(3) 27:36 (4) 27:64

144. The curved surface area of a right circular cone of height 12 cm and base diameter 10 cm is

(1) 169 & cm? (2) 144 1 cm?

(3) 100  cm? (4) 651 cm? EEE
283 12 20.2., g TS0 10 20.20. RS 50 5HTSC Fogosd SESe JTego Jos 7 B
(1) 169 1t 20.2.2 (2) 144 1t 20.20.2

(3) 100 7 0.2 (4) 651 20.00.2

145. Two cubes each of volume 27 cm? are joined end to end. Find the total surface area of the resulting
cuboid.

(1) 90 cm? (2) 100 cm?

(3) 110 cm? (4) 120 cm?

257, 9555 30350 353 30557620 27 20.20.3 Ko Tothd $30oTesd 2.8 T DG 3553 ediomd.
BN YGRS Bg;.’m’:o oY), Do e ITego Jos 2 EiE
(1) 90 20..2 (2) 100 20.20.2 s
(3) 110 20.0.2 (4) 120 20.20.2
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146. Find the area of a quadrant of a circle where the circumference of circle is 176 cm.

(1) 576 cm?
(3) 656 cm?

(2) 616 cm?

(4) 726 cm?

38 505 176 20.2. 1 Ko 358 S8 oK 387050 Jod 2

(1) 576 20502
(3) 656 2052

147. Mean of first five prime numbers is

(1) 5.4
(3) 5.8

00¢5e3 5 (TS [ogge SiKew Jod 2

(1) 54
(3) 5.8

(2) 616 20.20.2

(4) 726 20.2.2

) 5.6

(4) 6.5

Q) 5.6

(4) 6.5

EEE

T

ExE
148. If the mean of 4, 5, 6, 7, x, 8, y and 9 is 7, then which of the following is correct ? ’@f{g

(1) x+y=16 2) x-y=16
(3) x+y=17 4) x—-y=17
4,5,6,7,%, 8,y 3500050 9 © 3 7 003 $od eI I 3330 2
(1) x+y=16 (2) x-y=16
(G) x+y=17 4) x-y=17

149. If the median of thedatax + 1,x+2,x—1,x+ 3, x—21s 16 (where x € N), then x =

(1) 14 (2) 15 (3) 16 4) 17

Sorodsox+1,x+2,x-1,x+3 SoBax x —2 ABoos) Soggissin 16 (KL x € N). e20208

X 205 Jod 2

(1) 14 (2) 15 (3) 16 (4) 17

ERE

150. If mean and median of a data are 23 and 18 respectively, then find its mode. m

(1) 6 27 (3) 8 4 9

2.5 SSER0¥500 G00%), e SoB0K0 S¢S SEHT 23 Sobaie 18 &S TP ABE) ersTuFse

Jod ?

(1) 6 2 7 ) 8 “) 9

(A)



SPACE FOR ROUGH WORK

47

MM/MORF/502

(A)



% MM/MORF/502

SPACE FOR ROUGH WORK

%IEI!IIIIIUII

48 (A)



